Konstrukce SUKNE

Vstupni konstrukéni parametry: P2 % P6

vp — vyska postavy = 170cm Pl] P21\ P21’ 4 pe1\/[P61
op — obvod pasu = 76cm .

os — obvod sedu = 96cm |

do — délka odévu = 40cm

I 62
22
Usetka Rozmér Hodnota ‘I
P1S1 0,1 vp+3 cm 20cm Sl'l
P1D1 do 40cm : S43s4°
S1S7 0,50s+1cm 49cm |
S1S84 0,250s+1cm 25cm .
P1P2 0,4S1S4 10cm |
P2P21=P2P21’ 1,5cm .
P2P22 14cm | ZD PD
P4P41 1,0cm .
P1P42 0,250p+3cm 22cm I
S7S84° 0,250s 24cm |
P7P6 0,4S7S4’ 9,6cm .
P6P61=P6P61" 1,0cm I
P6P62 8cm
P7P42 0,250p+2cm 21cm Dl! D4




